Lesson 20 — Quiz Questions

» Defensive Card Play

Q1 Partner is on lead against 3NT by South. He leads ® 6. What
should you play on this if dummy contributes the 92?

Dummy
¥Q82
¥6isled you hold @K T4
Q2 Your partner is on lead against South's 3NT contract. Partner leads

the ® K. What should you play from your hand?

Dummy
¥85
¥ Kis led you hold 9964
Q3 Your partner is on lead against South's 3 NT contract. Partner

leads the ® K. You play the ®4 and South wins with the ®A. Which card
should you play when you gain the lead?

Dummy
¥ 385
¥ Kis led you hold®J64
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Q4 You are West playing against South's 3NT contract. Your partner
led ¥ Q which was won by South with the Ace. Declarer cashes 4 rounds of
spades, (East having only a singleton). South now runs off 5 diamond tricks
starting in dummy and ending in South. You have to find 3 discards. Which 3
cards should you (West) keep?

A JT87
v K3
¢ AKQ6
& KT4
Dummy & 6432
¥ 7652
¢ 54
& A98
You - West
Q5 Southisin 4%. Partner leads the &J which you win with the %A,

Declarer dropping the Q. What do you lead now?

o KT4

v AKQT

¢ Q75

& K97

Dummy o Q73
v J4
¢ K963
% A543
You — West
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Q6 You are West with this hand against South's 44. Partner led the
&2. You won the trick with the &A. During the bidding South bid spades twice
so you know he has 5 of them. What are you going to do now?

A K943

v Q64

¢ AKQJ4

s K

Dummy o 86
v AJ75
¢ 85
& AT743
You — West
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